1A FECEBFE (E518m)

) (m/s) BRR R K (m/s) = (°C) s B %) = £ (hps) 55 = (mm) KR
=KD JEBEd &[] B Am | HFEH HES H&IE FE HRS H&IE E3h R ABE 107 RiEX | 1KEERXK |HEERES | oRFIRE | 15KBIRE
1H
2H
3H
4H
5H
6H
7H
8H
9H
10H
11H
12H
13H
14H
15H 22| FAFAME 69| dt 7.1 9.7 5 76.8 95.2 57.5 64.6 1014 1016.2 0 0 of £ =
16 H 2| FFEPE 10.1| FEFE 78 7.1 11.9 39/ 764 91.3 51.9 68.1 1016 1018.2 0.5 0.5 05| i
17H 3.6|JtitE 16.4[dbdbER 8 9.7 5/ 723 97.5 60.8 69.3 1018.8 1021 0.5 25 35 B =
18H 49| dedbE 20.3| dtdtE 8.4 11.7 53/ 835 97.7 53.3 73.5 996.5 998.6 25 11 445 W i
19H 53| FFE 222| EEFE 5.5 9.6 25 359 55.8 24.7 62.2 1000.7 1002.9 0 0 of B i
20H 4| EETE 20.2| FEE 5.3 11.8 1.4 44 541 324 56.6 1007.1 1009.3 0 0 of B i
21H 2.1| FAFEPE 6.6| EILE 5.5 10.7 0.7 60.4 79.7 35.2 57.7 1014.8 1017 0 0 of M =
22H 2.3| FFFE 12.1| BEgEA A 6.7 11.8 2.1 60.4 86.6 35 58.5 1016.6 1018.9 0 0 of M i
23H 24| FEAFEFE 12.2| A 5.5 8.7 15| 644 87.2 37.4 60.2 1014.8 1017.1 0 0 0| = =
24H 5.2| FAEE P 20.5| FFE 3.4 6.6 -0.1 457 91.3 28.8 55.8 1003.3 1005.6 0 0 of W R AE
25H 4| FEFEAFE 15| FAFg A 3.2 9.6 —0.1 38.8 60.8 22.4 50.6 1013.8 1016.1 0 0 0| 'REE =
26 H 24| FAFPE 10.9| AR P8 46 11.1 -06] 555 76.1 31.6 52 1020.3 1022.5 0 0 0 'REE R
27H 2.2| AP 8.5| A 1.4 14.6 28| 51.1 75.5 225 51.7 1021.3 1023.6 0 0 of H& i
28H 2.8| FAFA T 10.8| FAFgFE 7.3 14.6 2.1 69.3 92.7 36.6 56.9 1023.3 1025.5 0 0 of R B
29H 3.9[JdbdtE 15| dbdbE 6.9 8.1 52| 938 97.7 85.2 67.9 1020.8 1023 2 8.5 445 T 551
30H 5.2[JtdL 141| bk 5.8 6.9 48| 843 97.7 68 72.8 1017 1019.2 15 4 115 @ 551
31H 1.8| FAFA T 122 dt 7 10.9 4.1 69.9 92.7 452 71.9 1018.1 1020.3 0 0 of = £
1 3.3|FArAm 6.2 63.7 61.8 1014 1016.2
BE 9.7 FEFE 222| EETE 14.6 97.7 73.5 1025 1027.3 25 11 445
#£B [01/24 21:51 '01/19 12:17 '01/28 13:37 '01,/30 04:01 '01/18 24:00 ['01/28 07:52 ['01/28 07:52 [01/18 07:17 ['01/18 07:46 [01/29
=K -0.6 224 50.6 987 989.1
£ H '01/26 05:40 '01/25 15:16 ['01/25 24:00 |'01/18 13:54 |'01/18 13:54
BEE 104.5
H# 3 5

R mEE it JtdtzE L HiL®E| ® EXEY ER EERE 53] [ealealii] [Eakic] icheakic] ] izl o] B o] | i i)
(%) 3.2 20.1 6.8 22 1.3 1.1 1.3 1 1.8 29.7 12.6 13.5 1.4 0.4 0.6 24 0.6




28 B FECEFE  (E518m)

) (m/s) BRR R K (m/s) = (°C) P B (%) = £ (hps) 55 = (mm) KR
=KD JEBEd &[] JEBEd Am | HFEH HES H&IE 1 HRS H&IE E3h R ABE 107 RiEX | 1IKERXK |HEEEWE | oRFIRE | 15KIRE
18 25[dbdLE 10.2[ dbdb R 5.7 7.7 34| 755 92.2 53.3 72.9 1016.8 1019.1 0 0 of 2 55
2H 28| dtdtE 13.5| FAFg A 6.3 10.5 26/ 60.4 89.9 34.7 69.1 1015.5 1017.7 0 0 of M i
3H 2.6| EFEPE 85| JtiE 4.6 10.7 03] 66.9 93.3 30.2 68.4 1018.4 1020.7 0 0 of M i
48 2.1[JbdeER 6.7/ bt E 6.2 10.2 35 66.8 84.4 47.7 67.8 1017.5 1019.7 0 0 of £ e
5H 24| FEAFEPE 13.7| FAFg A 6.7 12.9 14 694 94.4 35.8 68.2 1013.3 1015.6 0 0 of =
6H 29| FFEFE 11.9(Jdbdb R 7.1 10.5 23|  76.6 98 58.3 70.7 1009.5 1011.7 0 0 of 2 =
78 24| JtE 15.3[dbdbER 6.1 9.6 32| 61.4 81.6 34.7 67.9 1013 1015.2 0 0 of 2 5
8H 2.3| P 6.6| bt 4.6 10 0.2 70 93.6 47.2 68.5 1015.6 1017.8 0 0 of M i
9H 5.6| FME 20.1| FaFE 8.4 12.1 2| 476 88.8 39.4 62.2 1008 1010.2 0 0 of m& i
108 35| FHEmE 14.5| FAFg A 6.9 11.9 24 52 82.5 27.4 59 1016.4 1018.6 0 0 of M i
11H 2.8| FFEFE 6.5/ AL E 5.2 11.4 0.7 66.7 95 34.1 61.3 1027.3 1029.5 0 0 of M B
128 1.6| FAFA P 5.4| FAFA TR 7.1 11.9 16| 813 96.1 62.4 67.2 1028.8 1031.1 0 0 of £ =
138 2.3| FAFA 11.1] FAPE 14.9 21.8 92| 776 98 474 70.3 1017.6 1019.7 0.5 1 1| B i
148 45| 23| FAFE 18.8 22.2 149 70.8 97.2 41.9 70.5 998.2 1000.3 2 8 40 £
158 43| dedtE 20.8| FHFEA AR 10.7 17.3 42 56 90.2 33.8 66 999.8 1001.9 0.5 2 25| = =
16 H 24| FAFAM 13| FEf 5.9 11 13| 596 97.7 21.3 64.1 1009.5 1011.7 0.5 0.5 05| M i
178 43| FEIPE 17.5| FAPE 7.9 12 43 419 60.5 32.7 57.3 1012.3 1014.5 0 0 of B i
18H 2.3| FFFE 13.6| FAFAPE 5.8 12.4 06| 628 88.8 38.3 58.9 1022.4 1024.7 0 0 of m& i
19H 43| FAFEITE 19.1] FEFe 11.8 16.9 36| 439 81.6 27.2 54.4 1022.6 1024.8 0 0 0| REE i
208 1.7| FArad 6.9] JbE&E 8.9 10.8 72 828 97.5 46.1 62.8 1017.5 1019.7 25 9.5 60| = 55l
21H 3.9| FHEAFE 202 8 12.6 17.5 56| 48.6 975 19.1 58.5 1010.3 1012.5 0.5 0.5 05| M B
22H 1.9| FArad 9.1] bk EE 75 10 42| 621 80.5 38.8 59.5 1025.8 1028.1 0 0 of =
23H 1.7[dbdbER 57| JbE 8.5 10.9 6.2 789 95.5 67.7 65.2 1019 1021.2 0 0 of = =
24H 26| dt&E 10.7| dbdL & 8.1 10.7 53 508 81.9 34.4 60.8 1018.8 1021 0 0 of M i
25H 26| dtdtE® 10.8| FAFAPE 4.1 8 1.6/ 80.3 98 50.8 66.5 1023.5 1025.7 05 15 4 [ =
268 2.8| FAFEPFE 19.3| P 6.2 10.6 1.1 55.4 98 36.9 63.2 1021.8 1024 0 0 of H& i
27H 3.5 FFEFE 14.8| A 8.1 13.2 1.2 55 87.4 29.1 60.7 1022.5 1024.7 0 0 of H& i
28H 1.9| FIradE 13.4| PR 10.4 14.4 53| 61.2 89.9 40 60.7 1022.1 1024.3 0 0 of H& i
29H 2| FArA T 13.9| FHFE7E 10.7 15.9 6.9 741 975 36.6 64.7 1007.6 1009.8 1 25 5| & 551
1 2.8| A 8.1 64 64.4 1016.3 1018.5
Re 10.7| FAdE 23| FarE 22.2 98 72.9 1031.5 1033.8 25 9.5 60
#£H8 [02/1417:15 '02/14 16:41 '02/14 14:33 '02/26 00:33 '02/01 24:00 ['02/12 09:24 ['02/12 09:24 ['02/20 19:12 ['02/20 18:00 ['02/20
=K 0.2 19.1 54 4 992.7 994.8
£ H '02/08 05:19 '02/21 11:01 ['02/19 24:00 ['02/14 13:54 |'02/14 13:54
BEE 1135
H%K 0 0 8

R EE it JtdtzE L BiL®E| = e ER EERE 53] [ealsalii] [Eaki] icheakic] ] izl o] B o] B i i)
(%) 3.3 15.5 9.4 42 1.6 1 1.1 15 28 29.3 11.2 11.3 2 1.2 1.1 2.7 0.8




3HA#H FECEBFE  (E518m)
EH(m/s) BRR R K (m/s) = m (°C) P B (%) = £ (hps) 55 = (mm) KR
=KD JEBEd &[] B Am | HFEH HES H&IE FE HRS H&IE E3h R ABE 107 RiEX | 1KEERXK |HEERES | oRFIRE | 15KBIRE
18 2.7| FAFEPE 16.8| FAFGFE 6.4 10.7 25 399 65 24.9 57.2 1012.7 1014.9 0 0 of M i
2H 24| FEAFEPE 6.7 dLE 6.3 12.7 09[ 595 83.6 35.5 57.8 1018.5 1020.8 0 0 of M i
3H 3.7\ AP 14.7| FAFg A 10.7 17.9 3.1 51.9 90.8 25.8 56 1019.2 1021.4 0 0 of M i
48 2.2| AP 13.5| A 7E 10.4 14.8 47  68.1 93 49.7 59.6 1027.1 1029.3 0 0 of M i
5H 2.1{dbdLE 9.5/ dtdbE 11.9 15.5 7] 728 97.7 48 63.5 1029.2 1031.4 0 0 of =2 =
6H 0.9| FIFamE 12.8| A PG 13.2 17 105 86.3 97.4 75.2 70.3 1023.9 1026.1 25 5.5 125| ™ 551
78 1.1| FEgPE 94| 15.1 16.7 142 939 97.4 83.8 77.3 1015.4 1017.6 5.5 18 875 ™ 551
8H 2| FArAm 13.3| FAFgFE 16.2 20.8 11.8] 749 97.4 46.1 76.5 1010.9 1013 0 0 of M i
9H 42| dbdbE 15.8[dbdbER 10.7 15.3 6.5 90 97.4 62.7 80.5 1012 1014.2 1.5 5 315 = 55
108 3.6[JdtdLE 17.6[dbdbER 75 8.9 6.2 71.4 97.2 55 77.7 1013.9 1016.1 0.5 1 05 = =
11H 29[JdbdLE® 10.3[JbdkER 5.5 7.2 45 883 96.6 77.4 80.8 1015.9 1018.1 0.5 1 5| 7 551
128 3.1[{dedeE 10.8[dbdb R 75 10.8 5 63.3 84.4 48 75.5 1020.1 1022.3 0.5 0.5 05 = =
138 2.4[dtdLE RIEE & 8.7 13.1 4 635 89.1 425 71.9 1021.6 1023.9 0 0 of H& B
148 43| dtdb=E 20.9[dtdLEE 15 8.9 59/ 87.4 97.5 70.2 76.5 1011.1 1013.3 1 5 32 551
158 2.6| FFEFE 16.8[JbdkER 9.3 14.2 36| 618 96.3 36.6 72.1 1011.9 1014.1 0 0 of H& i
16H 2.6| FAFATE 13.8] FAPE 9.9 14.2 28] 56.3 86.1 41.3 67.3 1020.6 1022.9 0 0 of =2 =
17H 22| FAFAME 13.6] FFE 13.2 18.5 84| 582 83 241 64.5 1019.5 1021.7 0 0 of H& i
18H 3| FAFg P 15.1| FAFAPE 15.5 20.2 10.2] 585 90.8 36.1 62.6 1017.1 1019.3 0.5 0.5 05| =
19H 1| FAFg P 6| FEFE 15.2 19.4 13| 87.1 97.2 55.5 69.9 1004.8 1007 25 11.5 235 M i
208 1.9 dbdLE 8.7| EitLE 13.1 16.1 106/ 58.2 84.4 39.9 66.3 1008.7 1010.9 0 0 of =
21H 27| dtdbE 108 dJt 10.8 13.7 9.3 57 84.9 39.4 63.5 1014.8 1017 0 0 of 2 =
22H 35| dtdtE 18.1] FAPE 12.3 18.8 74 467 61.6 25 58.4 1013.8 1016 0 0 of H& 5
23H 21| JtdtE 15.6[ dbdb R 13.1 17 84| 514 74.4 36.1 56.2 1010.5 1012.7 0 0 of =2 e
24H 3.9[JdtdtE® 13[JkdbER 7.9 10.7 66| 774 97.4 46.6 62.5 1012.9 1015.1 0.5 0.5 05 M =
258 1.9| FIrad 12.8| BIEA P 7.8 11.9 42| 56.2 85.2 37.2 60.5 1015.5 1017.7 0 0 of H& i
26H 3| dtdtE 9.7 JdtE 8.5 12.7 5.1 58.6 93 36.6 59.9 1017.7 1019.9 3 3 3] = 5
27H 24[JbdLE 79| dbdbE 11.3 15.9 52| 645 93 42.7 61.2 1016.7 1018.9 0 0 of M i
28H 2| dbdtE 139 JkER 11.2 14.6 8.1 79.4 97.4 57.7 66.6 1016.4 1018.6 1 2 45| =
298 2.7| FEAFEPE 12.8| FAFAPE 12.3 17.6 6.3] 653 97.5 35 66.2 1020.6 1022.8 05 05 05 & S
30H 39| FAFE 14.3| FIPE 15.7 20.5 99 464 82.5 21.3 60.2 1016.1 1018.3 0 0 of H& i
318 2.4| P 13.9| FAEAFA 14.9 19.2 8.9 553 74.7 34.4 58.7 1016.2 1018.3 0 0 o M i
EH 26[JdbdbE 11 66.1 66.4 1016.3 1018.5
Re 11.2| FAFgFE 20.9[dtdLE 20.8 97.7 80.8 1030.9 1033.1 5.5 18 87.5
#£H8 [03/22 20:32 '03/14 22:32 '03/08 15:31 '03/05 04:13 '03/11 24:00 ['03/05 09:07 |'03/05 09:07 |'03/07 01:46 |'03/07 11:46 |'03/07
=K 0.9 21.3 56 999.8 1001.9
£ H '03/02 06:26 '03/30 12:00 ['03/03 24:00 |'03/19 14:12 |'03/19 14:12
BEE 202
H# 0 0 13
R mEE it JtdtzE L HiL®E| ® EXEY ER EERE 53] [ealealii] [Eakic] icheakic] ] izl o] B o] | i i)
(%) 6.3 31.9 7.2 2.6 1.6 1.2 1.7 2.1 3.2 21.6 7.3 6 15 0.9 1.2 3 0.7




48 A% FEVEFE  (E518m)
FEH)(m/s) BRR R K (m/s) = m (°C) P B (%) = £ (hps) 55 = (mm) K5 R

=KD JEBEd &[] JEBEd Am | HFEH HES H&IE 1 HRS H&IE E3h Hih ABE 107 RiEX | 1IKERXK |HEEEWE | oRFIRE | 15KIRE
18 3.6[dtdLE 15.4[dbdbER 13.3 17.2 95 723 93 58 62.7 1017.5 1019.6 0.5 1 1| =
2H 4.1[JdbdbER 14.2[dbdbER 12 13.6 94| 723 94.4 64.7 65.6 1023.4 1025.6 0.5 1.5 40 £
38 1.1[JbdbER 74 B 14 19.2 11.1 83.2 97.4 57.7 70.8 1021.3 1023.4 0.5 0.5 15| ™
48 26| FfE 17.3| FAdE 17.3 23 117 773 97.2 474 72.7 1005.4 1007.5 2 45 185 &
5H 2.2(dtdLE 9.4|dtitE 11.4 12.7 10.1 88 97.2 70.2 77.2 1011.7 1013.9 0 0 of 2
6H 2| FArAmE 8.6| FAFA R 14.2 21.3 8.1 62.4 97.4 18 72.7 1016.8 1019 0 0 of
78 3.3| FFFE 26.4| EIEATE 16.2 22.6 126 864 97.2 56.1 76.8 1008.3 1010.5 1.5 6.5 315 M
8H 1.9| FIram 13.3| FAFg A 17.6 225 134 659 94.7 35.5 73.4 1006.2 1008.3 0 0 of =2
9H 3.2| FFEFE 17.4| FAFgFA 17.5 23 13.1 63.7 96.9 28.6 70.5 1011.8 1013.9 0 0 of =2
108 2.7| FHEA T 16.8| FAFGFE 17.8 21 142 564 74.1 36.1 66.2 1007.2 1009.3 0 0 of 2
11H 3.2[dtdLE 13.1| FAFgFE 14.1 17.6 10 57 87.5 36.3 63.4 1008.8 1011 0 0 of £
128 2| FArAmE 79| FME 11.3 14.1 7.7 479 64.7 35.2 58.7 1020.5 1022.7 0 0 of =
13H 1.5| F A 10.7| FEFE 15 19.1 12.1 73.8 97.2 50.8 63.1 1015 1017.2 1.5 5.5 12 £
148 1| dedb s 5.8 dtdbE 15.8 18 14 853 97.2 69.9 69.7 1003 1005.1 25 10.5 265 =
158 2| FArAm 6.7[ dt&E 17.1 22.6 11.5 63 93.6 20 67.6 1010.5 1012.6 0 0 of
16 H 25| FAFA T 10.8| FAFG A 15.4 21.9 94| 552 81.3 38.3 63.8 1019.5 1021.7 0 0 of ®
17H 47| 22.8| FEAFATA 19.5 23.1 146 69.8 94.4 43.8 65.6 1007.8 1009.9 1.5 4 95 &
18H 44| T 141 FEA 21.2 27 16.4]  39.1 79.1 12.7 57.6 1005.3 1007.4 0.5 0.5 05 =
19H 29(dtdLE 13.3[JkdkER 18.1 24.1 128 542 78.8 24.4 56.5 1013.5 1015.6 0 0.5 of
20H 29|JtdtE IAEEEES 15.6 18.7 13.8] 55.3 74.1 375 56.1 1022.3 1024.5 0 0 of 2
21H 1.5| FIram 13| AR P 16.7 21 13.1 76.3 97.2 54.1 62.1 1013.7 1015.8 15 6.5 195 =
22H 1.9 dbdLE 8.8| FFE P 18 22.6 13.5 75.9 97.2 49.4 66.2 1003.3 1005.4 1 35 75 2
23H 1.4|dbdb == 8.8| MER 18.3 21.3 15.8 71.8 89.1 59.7 67.8 1009.1 1011.2 0 0 0| =
24H 2.3[dbdLE 11.6[JbdbER 16.2 19.4 14 69 87.7 53.3 68.1 1010.9 1013 0 0 of =2
258 2.1| FAFEPE 59| HER 16.8 21.9 122  61.6 83.6 40.5 66.1 1017.1 1019.2 0 0 o] =
26H 2| FArAmE 10.8| FAFAPE 18.3 24.1 13.8] 694 925 41.3 67 1014.9 1017.1 0 0 of
27H 1.4| FAFg A 6.5 dt 17.5 20.5 14.3[  80.1 96.9 63.6 70.9 1010.8 1013 1 35 75| =
28H 1.6) dbdLE 127 HILE 16 17.9 144 932 96.9 80.5 775 997.4 999.5 2 7 26| R
29H 1.6| FIFgFE 8.3 HmiLE 15.9 20.1 126 728 96.9 46.9 76 997.5 999.6 0.5 0.5 05 =
308 3.8| FAFA T 17.6) FAFA PG 16.9 21.7 11.3] 507 79.7 30.5 68.4 1009.4 1011.6 0 0 of
EH 24| FE P 16.2 68.3 67.4 1011.3 1013.5
Re 11.6| FAFgFA 26.4| FEEI AR 27 97.4 775 1024.9 1027.1 25 10.5 315
#£H [04/17 12:14 '04/07 19:57 '04/18 12:11 '04,/06 06:48 '04,/28 24:00 ['04/20 09:46 |'04/20 09:46 |'04/14 02:39 |'04/14 01:19 |'04/07
=K 7.7 12.7 56.1 991.5 993.6
£ H '04/12 02:53 '04/18 13:40 ['04/20 24:00 |'04/29 01:47 |'04/29 01:47
BEE 166
H# 1 0 14

R m4EE it JtdtzE L HiL®E| ® e G EERE 53] [ealealii] [Eaki] icheakic] ] izl o] B o] B i i)
(%) 2.9 23.2 9.3 3.5 22 2.1 3.1 4.4 5.2 25.8 8.1 6.1 1.1 0.5 0.7 0.9 0.9




58 A#H FECEBFE  (E518m)
) (m/s) BRR R K (m/s) = m (°C) T B (%) = £ (hps) 55 = (mm) KR

=KD JEBEd &[] B Am | HFEH HES H&IE FE HRS H&IE E3h R ABE 107 RiEX | 1KEERXK |HEERES | oRFIRE | 15KBIRE
18 6.2| FRE 18.5| FAFgFE 21.7 26.8 174 345 48.6 29.1 58.2 1010 1012.1 0 0 of
28 1.9[ kbR 7.6| FIEI P 18 21.2 143[ 726 90.5 48.8 62.4 1018.3 1020.4 0 0 of 2
38 2.1|FArAmE 13.7[dbdb R 20 24.5 148  70.9 93.8 49.1 64.9 1015.5 1017.7 0 0 of 2
4B 48| FEfE 235| FAFE 21.8 26.5 19.2 538 95.2 19.4 61.6 1003.2 1005.3 2 7 14.5 &
58 42| 18| FFE 21.8 27.2 16.2 38 61.3 22.2 54.4 1007.6 1009.7 0 0 of
68 25| FArAE 14.8| FAFGFE 17.6 21.1 146 64.6 90.5 40 57.4 1015.1 1017.2 0.5 0.5 05 =
78 5.6| FAFE 23.3| FHEA A 20.5 25.8 153  59.7 75.8 46.9 58 1005.8 1007.9 0 0 of £
8H 1.9| FIFg A 7.9] dtiE 20.4 24 17.3] 487 70.5 28.8 55.1 1013.9 1016 0 0 of
9H 1| EEgPE 44| FAFR 17.2 19.2 15.6 86 96.9 67.7 64.3 1014.8 1016.9 2 3 125 2
10H 1| EEgPE 7.7| FEEI A 19.5 24.1 16.1 83.2 96.9 57.4 69.9 1005.5 1007.6 5.5 14.5 18] =
11H 43| F 17| FgFa 22.6 25.4 20.3] 737 96.6 50.2 71 999.2 1001.3 45 20.5 265
12H 2.1|FArAmE 11.5| FA A 20.1 26.1 149 599 87.2 33.6 67.6 1011.3 1013.4 0 0 of
13H 22| FAFA 11.1| FAFgFA 20.5 26.6 15.7]  65.7 94.4 34.7 67 1016.8 1018.9 0 0 of
14H 21| JtdbE 10.4| FAFgFE 21 25.6 16.7]  61.1 90.8 41.1 65.2 1020.2 1022.3 0 0 of =2
15H 2| dbdtE 79| dtdtE 18.4 225 159  60.2 77.2 40.5 63.6 1019.6 1021.7 0 0 of £
16 H 1.9| FIFg P 9.6| FAFA R 19.7 228 16.1 69.8 88.6 58.8 65.4 1013 1015.1 0 0 of =2
17H 1.6[JbdbER 88| it 19.4 226 179] 882 96.6 70.8 72.2 1009 1011.1 25 5.5 185 &
18H 2| dtibE 13.1| FAFAPE 19.9 26.5 146/ 55.8 87.7 19.9 67.2 1015.6 1017.7 0 0 of W
198 33| FEitLE 129/ HILE 19.1 24.9 125| 574 83.6 324 64.2 1018.2 1020.3 0 0 of ®
20H 3.4|JtitE 10.6[ JbdbER 17.7 21.2 135 64.1 91.1 48.6 64.1 1018.1 1020.2 0 0 of =2
218 1.9| FIrad 49| dtdb=E 18.3 24.9 12|  63.6 95.8 31.9 63.9 1015 1017.1 0 0 of M
22H 1.8| FIFg A 5| AT 21.4 28.6 156 57.3 88.6 29.1 61.9 1014.3 1016.4 0 0 of
23H 2| FAFa e 5.6| FAFA T 22.1 29 15 526 69.1 325 59.1 1012.4 1014.5 0 0 of B
24H 1.5| FIram 12.4] b= 23.8 30.6 19.1 52 79.1 32.4 56.9 1011.6 1013.7 0 0 of =
25H 2.1|FArAm 98| @ 225 26.6 19.1 62.2 79.9 45 58.4 1012.2 1014.3 0 0 of =2
26H 1.3| F A 77l 226 26.4 192 754 88 60.8 63.4 1009.9 1012 0 0 of £
27H 1.5[dkdbER 10.8] JkER 20.1 23.6 17.2] 857 96.6 66.1 70 1006.5 1008.6 1 3 7l =
28H 1.5| F A 6.1 AR 19.2 224 159 736 92.4 56.9 71.1 1006.8 1008.9 0 0 of 2
29H 1.6| FFEE A 127\ mmeE|  21.3 26.2 164 714 96.6 46.9 71.1 1006 1008.1 0 0 of
30H 3.4|dtdtE 12.7[dbdbER 17.3 20.8 158 88.9 96.9 71.5 76.4 1004.5 1006.6 2 5 155 £
31H 24| dtitE 19.3| ARG 7 20.9 26.7 16.7]  71.1 96.9 46.9 74.8 1002.6 1004.7 0.5 0.5 05| =
1 25| A 20.2 65.2 64.5 1011.4 1013.5
e 13.2| FAFgFE 235 FaE 30.6 96.9 76.4 1023 1025.1 5.5 20.5 26.5
#£H8 [05/07 20:23 '05/04 17:22 '05/24 15:10 '05/31 00:57 '05/30 24:00 ['05/14 22:54 |'05/14 22:54 |'05/10 23:49 |'05/11 00:36 ['05/11
=K 12 19.4 54 4 997 999.1
£ H '05/21 05:07 '05/04 13:18 |'05/05 24:00 |'05/11 13:13 |'05/11 13:13
BEE 1135
H%# 16 0 9

R mEE it JtdtzE L HiL®E| ® EXEY ER EERE 53] [ealealii] [Eakic] icheakic] ] izl o] B o] | i i)
(%) 46 20.4 9.1 3.7 1.2 1.1 2.3 43 5 24.4 10.5 8.7 1.9 0.5 0.6 0.9 0.8




68 A% FECEFE  (E518m)
) (m/s) BRR R K (m/s) = m (°C) P B (%) = £ (hps) 55 = (mm) K5 R

=KD JEBEd &[] JEBEd Am | HFEH HES H&IE 1 HRS H&IE E3h Hih ABE 107 RiEX | 1IKERXK |HEEEWE | oRFIRE | 15KIRE
1H 26| dtdtE 11.4| A 22 25.7 195 554 84.7 38.3 69 998.3 1000.4 0 0 of 2
2H 2.2| AP 13.1[dbdbER 20.5 25.2 16.3]  49.1 77.4 27.4 63 1002.1 1004.2 0 0 of
3H 29| FEFFE 14.4| FARIER 18.9 24.3 13[ 579 78.6 424 61.4 1011 1013.1 0 0 of
4B 3.1 FEmm 144 FFE 22 25.7 17.3] 585 81.6 43.3 60.5 1011.1 1013.2 0 0 of 2
5H 1.9| FIram 13.3| FAFgFE 18.8 22.3 152 779 92.7 56.1 65.6 1009.6 1011.7 0.5 1.5 2l
6H 2.1{dedeE 8.2l titE 20.1 24.8 143 718 96.9 47.7 67.4 1013.6 1015.7 0 0 of =2
78 0.8 JtE 12.2| FAFgFE 19.6 21.2 18] 89.3 96.6 77.7 73.9 1013.1 1015.2 5.5 12.5 165 =
8H 1.2| bk 51| JtdbE 20.3 24.7 174 813 96.6 52.7 76 1011.9 1014 0.5 1.5 25| =
9H 0.6|dtdt=E 3.6|JtdtE 21 23.6 19 87.1 96.6 69.1 79.3 1008.8 1010.9 1 1.5 5, =
108 1.6/ttt 8.9 FE 23 28.5 18.6 69 94.7 425 76.2 1011.1 1013.2 0 0 of 2
11H 2.1|FAramE 13.2| FAFg A 22.4 27.8 16.7] 63.2 80 35.8 72.2 1013.7 1015.8 0 0 of =2
128 1.9|dtdb == 125 db 22.4 25.8 19.6]  79.6 96.6 64.4 74.3 1010.3 1012.4 0.5 1.5 25| =
138 2.3| P 151 dk 21.6 24.4 19.8[ 859 96.6 62.5 77.7 997.8 999.9 3 10.5 2 M
148 1.5| FIrad 57| dtdtE 22.7 27.3 19.5 68 91.1 422 74.7 1001.5 1003.6 0 0 of
158 1.2| FArAmE 6.6| FF P 22.6 26.4 206/ 75.2 87.4 59.4 74.8 1007.6 1009.7 0 0 of £
168 1.7)dbde 8.4| It 21.5 24.2 202 879 96.6 69.4 78.7 1004.3 1006.4 1 5 165 =
17H 1.6| FEE A 6.7[ dt 23.6 28.9 20.1 77.1 96.3 52.5 78.2 1001.3 1003.4 0.5 1 1| B
188 21| FAramE 89| 25.7 31.6 20.7] 547 84.1 29.1 71.1 1010.8 1012.9 0 0 of
198 1.4| FArAmE 6.8] dt 22.8 26.2 20| 804 93.6 65.2 73.8 1011.8 1013.9 05 1 2] 2
208 2.8| FAFE 17.1| P 24.9 29.4 19.9 70.1 95.8 48 72.7 1004.7 1006.8 05 05 05| =
21H 1.5| F A 721 224 25.7 20.1 85.7 96.6 61.3 76.5 1005.4 1007.5 25 8.5 315 =
22H 1.1)dbde 6| EER 23.2 26.3 21.2] 80.9 94 .1 60.8 77.7 1006.7 1008.8 1 15 15 B
23H 1.1| FIFg A 76| JbE 22.8 25.4 214 916 96.3 75.8 81.8 1000.8 1002.9 9 25.5 82| W
24H 1.1[dbdbER 5.8 bt E 22.3 23.9 21 86 95.5 69.7 83 1004.9 1007 15 15 4 =
25H 43| FEIPE 19| EIPE 27 31.4 21 61.9 96.3 39.1 76.7 998.2 1000.2 11 19.5 26| =
26H 47| FEEE 19.1] FgFa 25.4 30.3 223 465 57.7 36.6 67.6 1003.1 1005.2 0 0 of
27H 1.9 dtdbE 10.5| FAEgPE 235 28.2 196/ 67.3 85.5 41.9 67.4 1011.6 1013.7 0 0 of M
28H 1.2|dbdbE 8.1| FHEgFE 18.9 229 16.7] 919 96.9 73.6 74.7 1010.4 1012.5 25 10.5 515| M
29H 0.7/ dtdt=® 42| dtdb=E 20.9 23.6 19.2] 85.3 96.6 64.1 77.8 1012.9 1015 05 1 1.5]
30H 0.7\ FAFEIE 3.2/ dtdtE 21.8 24.2 20 841 95.5 73 79.6 1010.8 1012.9 0 0 of
EH 1.9| EEg P 22.2 74 73.4 1007.3 1009.4
Re 10.3| R 19.1] FAfE 31.6 96.9 83 1015.3 1017.4 11 255 82
#£H [06/25 04:49 '06,/26 02:36 '06/18 13:06 '06,/28 05:49 '06/24 24:00 ['06/06 21:33 |'06,/06 21:33 |'06/25 05:20 |'06/23 10:12 |'06/23
=K 13 27.4 60.5 994.4 996.4
£ H '06,/03 05:14 '06/02 16:07 |'06/04 24:00 |'06/13 16:56 |'06/13 16:56
BEE 288.5
H%K 18 0 17

R EE it JtdtzE L HiL®E| ® e ER EERE 53] [ealealii] [Eakic] icheakic] ] izl o] B o] | i i) i)
(%) 6.6 20.2 7.8 25 1.6 1.7 29 43 4.4 25.4 9.1 7.4 22 0.7 0.7 1.7 0.8 0.8




7H A% FECEBFE  (E518m)
EH(m/s) BRR R K (m/s) = m (°C) P B (%) = £ (hps) 55 = (mm) KR

=KD JEBEd &[] B Am | HFEH HES H&IE FE HRS H&IE E3h R ABE 107 RiEX | 1KEERXK |HEERES | oRFIRE | 15KBIRE
18 1.6]dtdb= 6.5 dt 24.6 30 206/ 786 96.6 50.8 79.2 1011 1013.1 0 0 of
2H 4.7| FAEA A 19| FAFg A 27.6 32.4 23] 677 92.7 50 75.7 1009 1011 0 0 of
3H 6.7 FAFE P 20.3| FFE 29.8 32.9 27.2] 609 71.6 51.1 71.2 1005.5 1007.5 0 0 of
48 1.6]dtdbE 8.6| HILE 28.5 33.9 245  64.1 88.6 44.9 69 1008.8 1010.8 0 0 0 'REE
5H 1.7/ et 6.8/ bt E 22.8 25.8 20 845 96.1 71.1 73.6 1016.6 1018.7 0.5 0.5 05 =
6H 2.3| P 16.7| FHFE A 25 31 19.5[  73.1 95.5 48.8 73.4 1014.2 1016.3 0 0 of 2
78 25[JdbdbER 18.2| FAFGFE 28.5 35.3 247  63.6 81.3 36.3 70.4 1010.1 1012.1 0 0 of
8H 1.3/ bk 9.9| FHEA 25.3 275 23.7] 728 79.9 59.7 71 1011.8 1013.9 0 0 of 2
9H 1.5| FAEA P 9.1| FHEa A 23.1 27.2 20.8] 89.2 96.3 71.9 76.4 1006.2 1008.3 5 19.5 525
108 1.1[JbdbER 10.8| FIRIER 25.2 28.6 219 759 94.9 54.7 76.2 1002.2 1004.3 0 0 of
11H 1.3 dbdb=® 6.7] 1t 27.2 32.9 223 66.4 94.9 38.6 73.2 1002.5 1004.5 0 0 of
128 1.2|dbdb=E 5.3| dtdtE 26.8 31.9 233 687 93.8 41.3 71.8 1003.7 1005.7 0 0 of
138 1| dedb == 8.3| FFm 25.7 28.9 235 799 92.7 62.2 74.2 1000 1002 0.5 0.5 05 =
148 3| dtitE 15.3| FAFg A 28.5 33.5 25.1 66.5 83.8 47.2 71.8 994 996 0 0 of M
158 2.1{dbdeE 12.7[dbdbER 245 27.8 228 813 95.5 62.2 74.6 997.3 999.4 0.5 1 1| 2
168 1.5/ bt 6.2| bt E 23.9 27.4 218 799 96.1 61.9 76.1 1005.1 1007.2 0 0 of =2
178 1.4/ttt 10.3[JbdkER 26.7 32.1 224 741 94.7 53.8 75.5 1004.6 1006.7 0 0 of
18H 1.2| bk 54| tdtLE 29.1 33.7 258 67.1 90.2 441 72.9 1004.7 1006.7 0 0 of
19H 1.3/ bt 14.1[JbdbER 27.9 325 253 709 924 45 72.2 1007.2 1009.3 1 1 1 i
208 1.3[dbdkER 6.1 RFE 26.2 29.6 245 808 96.3 61.6 74.7 1009.3 1011.3 0.5 15 15| =
218 24[JbdLER 13.7| kit 23 24.7 21.7 92 96.3 79.4 79.8 1010.5 1012.6 1 3 12 7
22H 24| dtdtE 125] dk 21.4 22.6 20 933 96.3 81.3 83.8 1011.2 1013.3 2 6 345 =
23H 1.9| et 6.5 dbdLE 22.7 27 19.6 68 93.3 44.9 79 1012.6 1014.7 0 0 of
24H 1.5[dbdbER 59| JtdbE 23.9 28.5 21 66 87.2 42 4 75.1 1013.2 1015.3 0 0 of =2
25H 1.6| FEE A 5.3 b 247 29.4 213 687 88.8 433 73.1 1012.4 1014.5 0 0 of £
26H 1.2| FAEE A 55| FFE 24 27.8 217 751 90.8 55.8 73.6 1009.6 1011.7 0.5 15 25| =
27H 0.9| FIFamE 6.7 FAFE P 24 26.4 22.1 80.1 90.8 66.1 75.5 1008.8 1010.9 0 0 of =
28H 1.3| FIFg 11.8] dk 25.6 30.6 226 782 95.2 52.4 76.2 1010.7 1012.8 0 0 of 2
29H 1.8| FArA P 76| FE 26.1 30.8 225 735 93.6 452 75.4 1011.8 1013.9 0 0 of
30H 1.8| B 57| AR 26.2 33.1 21.4 71.7 94.1 37.5 74.2 1011.7 1013.7 0 0 0] B
31H 1.6/ dbdbR 9.2 dt& 26.9 31.7 23.3 76 94.4 53 74.7 1009.4 1011.4 0 0 of
EH 1.9/ dedbE 25.7 745 74.6 1007.9 1010
Re 11.2| FAdE 20.3| FEFE 35.3 96.6 83.8 1019.8 1021.9 5 19.5 52.5
#£H8 [07/0312:16 '07/03 12:13 '07/07 14:18 '07/01 05:26 '07/22 24:00 ['07/05 20:56 |'07,/05 20:56 |'07,/09 14:00 |'07/09 14:28 |'07/09
=K 19.5 36.3 69 991.6 993.6
£ H '07/06 04:25 '07/07 15:17 ['07/04 24:00 |'07/14 17:04 |'07/14 17:04
BEE 106
H%# 29 0 9

R mEE it JtdtzE L HiL®E| ® EXEY ER EERE 53] [ealealii] [Eakic] icheakic] ] izl o] B o] | i i)
(%) 8.3 30 11.3 2.6 1.2 1.4 2.6 2.6 2.7 18.1 6.2 7 1.8 0.9 0.8 1.9 0.6




8H A% FERTEBE  (ES18m)
) (m/s) BRR R K (m/s) = m (°C) P B (%) = £ (hps) 55 = (mm) KR

=KD JEBEd &[] B Am | HFEH HES H&IE FE HRS H&IE E3h R ABE 107 RiEX | 1KEERXK |HEERES | oRFIRE | 15KBIRE
18 1.5/ dtdb=® 7.8|dtdtE 27.9 32.2 254 714 87.7 474 73.7 1006.8 1008.8 0 0 of
2H 1.1| FFgPE 108 dJt 26.7 31.4 241 81.3 96.1 56.9 75.9 1006 1008.1 2 4 65 M
3H 1.8| FAEE A 57[ dt 26.6 30.1 239 805 94.9 61.1 77.2 1006.9 1008.9 0 0 of 2
48 1.7| FArad 6.9| bt FE 28.1 33.6 24 716 93 41.9 75.5 1007.6 1009.6 0 0 of
5H 1.6| FAFA P 13| FFME 28.6 33.7 248 695 83.3 474 73.7 1008.4 1010.4 0 0 of
6H 1.6]dtdb= 55| dtdbE 28.4 32.9 252 704 88.8 46.9 72.6 1007.8 1009.8 0 0 of
78 1.8|dbdbE 8.9 dt&® 28.6 335 247  69.4 92.4 41.9 71.6 1007.3 1009.3 0 0 of
8H 2.7[dbdbER 11.6[JbdbER 29.8 34.5 26.7] 608 76.1 425 68.3 1000.7 1002.7 0 0 of
9H 1.6| FAFA P 5.3[JtdtER 30.2 35.6 259] 577 715 37.7 65.1 999.4 1001.4 0 0 of M
108 1.9| FIra 59| 1t 28.9 34 244 6715 83.8 47.2 65.7 1005.2 1007.2 0 0 of
11H 1.5/ dbdb=® 57 L& 27.8 31.1 248 692 92.5 48.8 66.7 1007.6 1009.6 0 0 of
128 1.8 bt 6.2| bt E 26.9 30.6 24| 678 86.9 38.6 67 1008 1010.1 0 0 of 2
138 1.6| FAFA P 5.3| bt E 26.4 29.5 234 721 90.2 59.4 68.5 1006.3 1008.4 0 0 of 2
148 0.7| FEAFA A 5.8 dtitFE 25.6 28.9 228 734 91.6 49.9 69.9 1003.9 1005.9 0.5 0.5 05 =
158 1.2| FArA P 71| FARE P 26.9 30.7 24.1 77.6 88 61.9 72.2 1001.3 1003.3 0 0 of =2
16H 3.2[dtdLE 14.8] b b | 275 33.2 235 76.1 93.3 55 73.3 999.2 1001.2 0.5 0.5 05 =
17H 3.8| FHFAME 20.5| P A 30.3 35.2 26.1 62.3 96.3 46.9 69.9 996.8 998.8 1.5 15 2| B
18H 1.2| FArA P 6.9 R 27 31.6 25.1 86.6 96.3 52.5 74.9 1004 1006 8 31 415 =
19H 3| dtdtE 13.8[JbdkER 28.2 32.3 256 758 96.1 46.9 75.1 1004.8 1006.8 2 3 4 B
20H 3.7(dtdLE 15.1[JbdbER 27.4 315 25.1 80 95.2 56.3 76.5 1003.1 1005.1 4 8.5 85 =
21H 1.8 bt 9.1|dtdtE 27.7 31.8 25.1 81.3 95 56.3 77.9 1004 1006 0.5 0.5 05 =
22H 6.3[dtdLE 276 1t 26.9 29.9 24 831 96.1 59.7 79.4 996.6 998.6 13 49.5 1915] ™
23H 1.2| FIFg A 11.9| A 27.4 31.4 25.1 80.3 92.7 64.4 79.6 1002.8 1004.8 0.5 0.5 05 =
24H 1.3/ bk 59| JdtdbE 26.6 30.4 245 793 925 57.2 79.5 1006.6 1008.6 0.5 0.5 05 =
258 1.8| FArA P 75| dbdbE 27 32.1 23.8 77.1 94.9 46.1 78.7 1006.5 1008.5 0 0 0| HE
268 2.1\ FAFEPE 10.8| FIFA R 27.4 325 23.3 74 941 50.2 77.3 1002.9 1005 0 0 of M
27H 271 4t 115 dk 25.3 28.8 219 827 96.1 69.1 78.8 1002.8 1004.9 2 6.5 23] =
28H 46| dtdbE 15.1] b b | 22.8 24.4 21.1 88.6 96.1 75.5 81.7 1001.2 1003.3 15 4 115] =
29H 55| dtdbE 14.3] dbdL | 26.6 30.8 235/ 806 95 57.5 81.3 990.4 992.4 0.5 0.5 05 =
30H 46| FIfE 21.8| FEEAAE 25.9 30.3 24.2 70.7 96.1 43 78.1 984.4 986.4 25 75 27 RN
31H 27| FAra 12| 26.4 32.2 20.6 56 83.3 33.6 71.4 998.8 1000.8 0 0 of
EH 24| FEFEPE 27.3 74 741 1002.8 1004.9
Re 13.3| FAFg A 276 dt 35.6 96.3 81.7 1009.5 1011.5 13 495 191.5
#£H8 [08/30 16:57 '08/22 09:32 '08/09 12:18 '08/18 13:15 '08/28 24:00 ['08/05 09:33 |'08/12 07:55 |'08/22 09:02 |'08/22 09:13 |'08/22
=K 20.6 33.6 65.1 981.3 983.3
£ H '08/31 04:13 '08/31 16:12 |'08/09 24:00 |'08/30 16:17 |'08/30 16:17
BEE 318.5
H%K 30 0 15

R mEE it JtdtzE L HiL®E| ® e ER EEE 53] [Ealealii] [Ealic] icheakic] ] izl o] B o] B i i)
(%) 6.9 30.5 8.1 1.8 1 1.1 24 3.2 3.6 21.3 7.7 5.8 1.8 0.8 1.1 2.2 0.7




9H A% FECEFE  (E518m)
) (m/s) BRR R K (m/s) = m (°C) P B (%) = £ (hps) 55 = (mm) K5 R

=KD JEBEd &[] JEBEd Am | HFEH HES H&IE 1 HRS H&IE E3h Hih ABE 107 RiEX | 1IKERXK |HEEEWE | oRFIRE | 15KIRE
18 1.8| FArA M 9.1| FAFa M 26.6 31.4 218 675 88.3 49.7 70.2 1006.3 1008.3 0 0 of
2H 1.5| FIra 51| EJLE 26.6 31.3 219 704 94.7 45 70.2 1010.5 1012.6 0 0 of
3H 3.6[dtdLE 14.4[ FHILEH 27 30.4 25.2|  76.1 95 50.2 71.9 1012.4 1014.4 0.5 1 15| 2
48 2.6[dbdLE 8.6/ titE 26.6 30.9 246 819 95 51.9 74.9 1013.6 1015.6 0 1 of 2
5H 1.7| FAram 6.8| PR 27 325 23.1 78.9 95.8 51.9 76.1 1011.8 1013.9 0 0 of
6H 24| FfE 11.3| FAdE 28.4 32.7 246 67.1 88 53 73.4 1007.2 1009.2 0 0 of
78 1.9 PR 10.9] FEFE 27.3 32.2 23.7] 759 96.3 53.3 74.1 1003.4 1005.4 45 5.5 65 =
8H 1.4| FArAmE 94| ¥R 26.2 29.2 243 86.9 96.3 68.6 77.9 1000.2 1002.3 9.5 11 15| ™
9H 1.5| FIra 7| A 27.3 325 237 713 96.3 39.4 75.9 1002 1004 0 0 of
108 1.6| FAFA P 5.3| bt E 26.2 31.9 225/ 705 94.4 38.6 74.2 1009.1 1011.1 0 0 of £
11H 1.3| FIrad 8.2| dtitE 22.9 25.7 214 908 96.3 74.9 79.1 1013.3 1015.4 5 19 51 ™
128 1.7/ dtdb=® 9| dtitE 25.3 28.4 223 722 89.9 54.9 77 1015.7 1017.8 0 0 of
138 0.8|dtdt=®E 5.3| dtdtE 235 25 225 934 96.3 82.2 81.8 1013.8 1015.9 5 14 55| ®
148 1.5/ dbdb=® 7.7] L4 22.8 24.9 21.7] 908 96.3 74.9 84.5 1013.9 1016 5 14.5 475 ™
158 1.2| FArA P 4.3[JbdbER 24.1 27.7 223 847 96.1 63.6 84.5 1012.9 1015 0 0 of 2
16 H 1.6[dbdbER 6] dt 23.8 25.8 216 811 95.5 66.1 83.4 1014.2 1016.3 0 0 of =2
178 1.3| FIra 6.4| FAm P 24.4 27.8 21.2] 828 95.8 65 83.2 1011.9 1014 4 4 4| =
18H 3.3 FfE 13.5| FEF 26.1 28.3 232 739 95.5 58.6 80.4 1006.5 1008.6 45 45 05 =
19H 25[dbdLE 9.6/ dtdtE 23.4 27.6 209 895 96.3 70.2 83 1006.6 1008.7 1 1.5 71 /&
20H 3.9[dtdtE 13.1[JkdkER 20.4 21.4 19.7] 944 96.3 82.7 86.3 1007.6 1009.7 9.5 30.5 140 7
21H 4[JbdkERE 15.3] JkER 21.3 22.6 20.2 74 85.8 65.2 82.6 1016.2 1018.3 0 0 of =2
22H 1.9| FIrad 16.9|dtdb=E 20.8 23.3 192] 915 96.3 76.9 85.2 1016.4 1018.5 4 10.5 A1 ™
23H 0.9| FIFamE 6.8 AL 7 23 26.4 206 903 96.3 71.9 86.7 1012.6 1014.7 6.5 13.5 200 =
24H 1.3| FIram 11.8| P 22 235 20.2] 887 95.8 72.4 87.3 1015.5 1017.6 1 25 9f =
25H 1.5| FIram 10.8| FAFAPE 23.3 27.7 19.9 77.6 96.1 49.4 84.3 1016.1 1018.2 0 0 of M
268 1.4| FArAmE 9.5[JbdLER 24.7 30.1 21.4] 771 94.9 475 82.1 1017.5 1019.6 0 0 of M
27H 1.6| FIFA P 79| FaFaTE 25.4 30 21.9 79.5 95.8 52.4 81.3 1015.5 1017.6 0 0 of M
28H 28| FAFE 12.7| FFE 27.7 30.7 246 706 88.3 58.8 78 1010.4 1012.5 0 0 of
29H 3.8| FHFAmE 15.2| FHE7E 27.3 30 243 70 87.7 60 75.6 1008 1010 0 0 of
30H 2| JdtE 9| dtitE 22.3 25.3 208 635 83.8 411 71.9 1014.7 1016.8 0 0 of B
1 2| A 24.8 79.4 79.2 1011.2 1013.3
Re 8.3| FfE 16.9|dtdb=E 32.7 96.3 87.3 1019.5 1021.6 9.5 30.5 140
#£H8 [09/29 06:31 '09/22 01:06 '09/06 14:38 '09/23 03:37 '09/24 24:00 ['09/21 22:53 |'09/21 22:53 |'09/20 17:57 |'09/20 18:09 |'09/20
=K 19.2 38.6 70.2 997 999
£ H '09/22 04:14 '09/10 14:16 ['09/02 24:00 |'09,/08 16:00 |’09,/08 16:00
BEE 398
H%K 25 0 13

R EE it JtdtzE L HiL®E| ® e B EERE 53] [ealealii] [Eakic] icheakic] ] izl o] B o] | i i)
(%) 5.6 26.4 7.9 25 15 0.6 1.2 2.7 3.3 26.4 11.2 5.5 2 0.7 0.5 1.1 0.9




108 A%k FECEBFE  (E518m)
EH(m/s) BRR R K (m/s) = m (°C) P B (%) = £ (hps) 55 = (mm) KR

=KD JEBEd &[] B Am | HFEH HES H&IE FE HRS H&IE E3h R ABE 107 RiEX | 1KEERXK |HEERES | oRFIRE | 15KBIRE
18 1.5tk 6.6/ bt E 20.9 22 19.8] 864 96.3 76.1 76.2 1016 1018.1 0 0 of 2
2H 0.7| FEAFAFE 2.6| FAFA T 21.7 24.3 20.2 89 96.3 70 80 1016.5 1018.6 0 0 of M
3H 1.3| FIram 11.2| FAFEE 225 27.1 20.5 91 96.3 71.1 83.3 1011.7 1013.8 25 4 125 2
48 1.5| FIra 8.3/ dtitE 24.7 30.8 212 729 93.3 39.9 80.2 1010.7 1012.7 0 0 of £
5H 24| dtibE 17.1] FAPE 25.2 29 236/ 709 92.4 53.3 77.3 1013.2 1015.3 6.5 7 75| =
6H 2.8[JdtdLE® 18.5| FAPE 26.8 325 233 574 89.4 35.8 71.3 1009.4 1011.5 7 8.5 15 B
78 2.4[JdtdLE 8.7[dtdtE 22.3 24.1 199 51.8 81.3 35.5 65.4 1021.5 1023.6 0 0 of =2
8H 2| FArAmE 12.1| FAfE 23 27.6 19.3] 818 96.6 61.3 70.3 1012.7 1014.7 3 6 165 &
9H 3.7| FafE 15.9| FgFa 24 26.3 20.3 70 92.7 49.9 70.2 1005 1007.1 3 8 225
108 42| dbdbE 10.7[dbdbER 19.9 21.2 19  54.1 60.2 49.4 65.3 1014 1016.1 0 0 of 2
11H 3.7(dtdLE 11.6[dbdbER 19.2 20.9 175 57.8 67.5 49.7 63 1015.4 1017.5 0 0 of 2
128 2| FArAm 5.1| FAFa e 18.1 24 147  68.9 94.1 325 64.7 1014 1016.1 0 0 of B
138 3.6[dtdLE 10.4[ dbdbER 17.7 19 14.8 70 91.1 63 66.3 1018.4 1020.5 0 0 of £
148 3.4[dtdLE 9.8/ dtitE 17.3 20.7 126] 619 88.6 40 64.9 1022 1024.1 0 0 of =2
158 29| FFEFE 6.5 dt&E 16.8 24 11.5 68 93.8 33.8 65.8 1025 1027.1 0 0 of
168 2.7| FAFEPE 6.8/ JLdLE 17.9 23.4 13.2 71.1 89.1 39.1 67.3 1024.5 1026.7 0 0 of =
17H 2| FFEPE 9.1[JbdLE® 19.1 21.1 174 938 96.6 79.1 75.2 1017.1 1019.2 15 6.5 345 M
18H 1.6| FAFA T 48| dtdtE 22 27.6 19.4] 795 96.3 43.8 76.4 1014 1016.1 05 05 05| W
198 2| FFEPE 5.7[JtdbE 21.3 25.9 18.6 75.5 95.5 45 76.1 1014.4 1016.5 0 0 0] =
20H 2| FFEPE 5.5| EE T 21.3 26.9 186] 77.8 941 474 76.5 1011.2 1013.3 0 0 of
21H 22| FAFAmE 69| JtiE 18.9 22.7 16.3]  65.7 93.3 31.6 73.2 1015.1 1017.2 0 0 of =
22H 1.8| FIFg P 8.1 dbdk R 18.6 21.3 16.7] 75.6 94.7 58 73.9 1012.1 1014.2 0 0 of =
23H 21| FAram 11.1] dbb | 19.3 23.4 16.7] 70.6 96.1 43 72.9 1006.7 1008.8 2 3 35| =
24H 27| JdtE 11.4] L 16 18 13.3]  60.7 84.7 433 69.2 1014.1 1016.3 0 0 of =2
258 1.8| FArA P 5.3| FFE P 14.8 17.8 115 877 96.9 53 74.7 1017.2 1019.4 1 2 35| =
26H 29| FHEAE 19.7| FAFg A 22.6 28.3 16.6] 68.2 96.9 43 72.7 1010.6 1012.7 0 0 of =
27H 1.9| FIFg P 11.7]dtdbE 21.1 245 17.3] 575 86.1 33.6 68.1 1016 1018.1 0 0 of
28H 1.9| FIFg P 8.3/ dtitE 15.9 18.8 147] 86.4 96.6 62.7 73.5 1014.7 1016.8 1 3 14| =
29H 2| FAEE P 125 = 17.4 21.9 14|  69.6 96.6 39.7 72.3 1010.9 1013 1 15 15| B
30H 35[dbdbER 12.4[JbdbER 13.1 14.8 108 7258 941 55.2 72.3 1023.7 1025.9 1 2 35| M
318 1.9| FIrA P 5.3| FAF P 15.2 21.3 10.4]  75.1 955 47.4 73.1 1021.7 1023.8 0 0 of M
EH 24| FEFEFE 19.8 72.2 72 1015.1 1017.3
Re 10.1| FAFgFE 19.7| PR 325 96.9 83.3 1026.7 1028.9 7 8.5 345
#£H8 ['10/06 04:01 '10/26 06:32 '10/06 14:22 '10/26 02:00 '10/03 24:00 ['10/30 22:07 ['10/30 22:07 ['10,/06 00:03 ['10,/06 00:47 ['10/17
=K 10.4 31.6 63 1001.1 1003.1
£ H '10/31 06:35 '10/21 12:11 ['10/11 24:00 ['10,/09 06:31 ['10/09 06:31
BEE 1215
H# 10 0 12

R mEE it JtdtzE L HiL®E| ® EXEY ER EERE 53] [ealealii] [Eakic] icheakic] ] izl o] B o] | i i)
(%) 3.3 29.2 10.6 3.4 22 0.5 0.6 0.8 2.1 34 5.7 2.1 1.3 0.8 0.7 1.8 0.9




1A AR FEVEFE  (E518m)
FEH)(m/s) BRR R K (m/s) = m (°C) P B (%) = £ (hps) 55 = (mm) K5 R

=KD JEBEd &[] JEBEd Am | HFEH HES H&IE 1 HRS H&IE E3h Hih ABE 107 RiEX | 1IKERXK |HEEEWE | oRFIRE | 15KIRE
18 2.3| P 18.7[JbdkER 15.2 17.1 135 826 96.9 45 76 1015 1017.2 1 4 135 @
2H 44 JbdbER 11.7[dbdbER 13.4 14.6 11.4] 539 76.3 43.3 69.3 1021.1 1023.3 0 0 of £
3H 2| FArAmE 57 1t 13.7 18.9 102 742 95.8 45.8 70.7 1011.8 1014 0 0 of
48 2.6| EFEPE 13.3| A 7E 13.2 20 9.1 68.6 97.2 24.9 70 1012.9 1015.1 0 0 of
5H 3.4| A 16.8| FAFGFE 16.6 22.9 11.6] 59.8 88 33.3 66.9 1010.7 1012.9 0 0 of
6H 3.8[dtdtE® 12.6[JbdbER 16.1 22.2 106/ 57.9 95.2 32.7 64.2 1015.4 1017.5 0 0 of
78 4.1[(JdbdbER 14.6[dbdb R 13.3 16 85  56.1 81.9 41.9 61.7 1023 1025.2 0 0 of 2
8H 22| FArA e 10.7| FEFE 13.2 18.3 7.1 74.6 93.6 56.3 65.5 1014.5 1016.7 0.5 1 1| B
9H 1.9 JkER 9.9|dtitE 13.2 16.7 7.1 61.2 96.9 375 64.2 1013.3 1015.5 0.5 25 3] B
108 29(dtdLE 10.5] JbEE 10.6 13.2 6.8 64.2 92.5 41.1 64.2 1021 1023.2 0 0 of 2
11H 3.6[dtdLE 13.9[ kbR 13.4 15.8 10.3]  85.1 97.4 71.9 70.4 1014.9 1017 45 14.5 415 =
128 1.9| FIrad 58 dt&E 15.5 20.6 12.2 75 94.9 38.6 71.7 1019.9 1022.1 0 0 of
138 2.2| FAFEPE 10.8( AL FE 16 23.4 111 76.7 97.2 37.2 73.2 1021.7 1023.9 0 0 of
14H 1.4| FAFg P 47| FEE T 14.9 17.1 136 918 97.2 73 78.7 1018.9 1021.1 1 1.5 35| =
158 1.3| FAra 7.4| FAEI A 16.6 21.6 13.6] 885 97.2 64.4 81.6 1007.1 1009.2 0.5 1 2l =
168 22| AP 6.2 AL 13.2 16.9 10.2 72.5 95.2 38.3 78.8 1014.8 1017 0 0 of =
178 2.6| EEEFE 11.9]dtdb=E 12.9 17.2 8.8 70.3 96.9 41.6 76.3 1017.7 1019.9 0 0 of
18H 2| FFEPE 6.5 dbdLE 11.9 17.2 76| 737 93.6 427 75.4 1022.6 1024.8 0 0 of 2
198 1.2| FArA P 53| dt&® 13 13.9 115/ 954 97.2 87.4 81.3 1013 1015.2 2 6 125 ™
208 1.9| FIra 5.3| dtdtE 15.8 21.2 11.9] 857 97.2 63.3 82.6 1012.7 1014.8 0 0 of
21H 3.4[dtdLE 11.7[dkdk s 15.2 17.3 13.2 80 96.9 68 81.8 1017.7 1019.9 0.5 0.5 05 =
22H 1.4| FArAmE 5.3|dtdtE 15.7 20.9 13.3] 85.2 96.9 57.4 82.7 1007.6 1009.8 1 3 9| B
23H 35| dtdtE 12.1] dbdb | 13.2 16.8 85 56.8 96.1 39.9 74.9 1013 1015.2 0.5 0.5 05 =
24H 48| dtdb=E 16.2| JbdL & 5.9 8.5 43| 86.2 97.4 59.7 78.2 1016.3 1018.5 1 5 4 ™
25H 25| FAFA T 12.8| FAFAFA 7.2 14.8 22| 782 97.4 41.3 78.1 1019.1 1021.3 0 0 of
26H 29| FAra 82| JtiE 9.3 14.5 47| 794 97.4 455 78.4 1023.1 1025.3 0 0 of 2
27H 1.5| F A 7.4 11.7 14.3 9.1 86.2 97.4 57.7 80.7 1012.6 1014.8 1 3 9] =
28H 1.5| FIFg A 6.5/ dtitFE 11.9 15.1 7.1 87.1 97.2 51.9 82.6 1010.5 1012.7 1 3 4 =
298 24| FAFEFE 13.6| FAFAPE 10.1 16.5 6.8 76.1 97.4 37.4 80.6 1020.6 1022.8 0 0 of =
30H 29[ JtdtER 12.9| FEAFE 78 10.1 12.8 56| 622 97.2 441 75.1 1028.2 1030.4 0 0 of
1 2.6| FAFAME 13.1 74.8 74.5 1016.4 1018.5
Re 9.8 FARFE P 18.7|dtdb=E 23.4 97.4 82.7 1031.1 1033.3 45 145 415
#£H8 ['11/05 19:30 '11/01 20:06 '11/13 13:59 '11/29 07:04 '11/22 24:00 ['11/30 10:22 ['11/30 10:22 ['11/11 06:11 ['11/11 06:55 ['11/11
=K 2.2 24.9 61.7 1003.3 1005.4
£ H '11/25 06:27 '11,/04 14:19 ['11,/07 24:00 ['11/15 15:25 ['11/15 15:25
BEE 134
H# 0 0 13

R m4EE it JtdtzE L HiL®E| ® e G EERE 53] [ealealii] [Eaki] icheakic] L] izl o] B o] B i i)
(%) 3.6 24.4 9.8 3.1 1.7 0.7 0.6 0.8 2.3 415 3.8 25 1 0.7 0.9 2 0.6




128 A% FECEBFE  (E518m)
FEH)(m/s) BRR R K (m/s) = m (°C) P B (%) = £ (hps) 55 = (mm) KR

=KD JEBEd &[] B Am | HFEH HES H&IE FE HRS H&IE E3h R ABE 107 RiEX | 1KEERXK |HEERES | oRFIRE | 15KBIRE
18 2.8| FFEFE 16.8| FFE 14.1 19.6 102 737 97.2 424 74.7 1015.7 1017.8 1.5 6 135 BE
2H 3.2| FFEFE 18.6| FAFGFE 12.7 16.8 8.1 58.9 94.9 37.4 69.9 1017.9 1020 0 0 of
3H 2.6| EFEPE 13.8| FAFA PG 11 17.3 7] 76.9 94.9 39.4 72 1022.8 1025 0 0 of
4H 1.9| EFgFE 9| M 13.8 19.4 8.1 67.7 96.1 33.3 70.7 1017.5 1019.7 0.5 1 2l =
5H 1.6| FAFA P 9.4| FREAFE 14.2 18.5 11.4] 822 97.2 57.2 74.1 1008.7 1010.9 0.5 1 of
6H 4.1| FAEA A 20.9| FHEA 14.5 19.2 7] 479 78.8 24.4 66.2 1008.1 1010.2 0 0 of
78 2.2| FFEPE 12.2| FAdE 8.5 13.2 57  69.1 89.4 38.8 67.1 1014.8 1017 0 0 of
8H 2.8| FFEFE 13.6| FHE A 10.8 15.9 6.8] 56.9 79.1 31.1 64 1014.1 1016.3 0 0 of
9H 42| FEFE 16.5| FHE A 13.1 17.5 75| 539 87.7 38.8 61 1009.5 1011.7 0 0 of
108 3.2| FAEAFE 16.9| A 11.2 14.8 52| 50.4 75.5 40.5 57.7 1011.7 1013.9 0 0 of
11H 25| FEFE 13.1| FIFgFa 7.1 12.5 3.7 69 90 38 61 1017.5 1019.7 0 0 of
128 24| FEAFEFE 5.3| FAFA T 7.7 13.6 2.9 79 97.4 49.1 66.4 1022.8 1025 0 0 of
138 2.3| FFFE 8.3 dtitE 11.6 17.1 59 834 97.4 49.1 71.4 1014.2 1016.4 1.5 5.5 10| B&
148 3.2[JbdLE 14.8[JbdbER 10.1 12.6 85 921 97.2 80.5 77.6 1000.2 1002.3 3.5 13. 43| M
158 2| FArAm 5.6| FF P 7.3 11.4 3.2 72.2 92.7 36.9 75.9 1009.5 1011.7 0.5 0.5 05| =
168 2| FArAmE 72| L 6.6 12.3 3.4 65 90 33.3 72.6 1010 1012.2 0 0 of
17H 3.6 PP 133 7 8.3 15 4.1 50.4 73.3 31.6 65.9 1018.5 1020.7 0 0 0| 'REE
18H 2.6| FEEFE 13.9| FAFAPE 8.9 15.9 4]  69.6 96.3 40 67 1024.2 1026.4 0 0 of M
198 2.6| EEEF 6.7\ FAEI P 10.3 16.9 6.5 729 91.3 416 68.7 1022.6 1024.8 0 0 of
20H 2.6| FAFA T 13.9[JkdkER 11.2 18.6 6.1 70.9 975 34.1 69.3 1022.4 1024.6 0 0 of =2
21H 2.8| FFEFE 13.4| FAFFA 11.2 17.2 6.4 759 97.4 38.8 71.2 1027.2 1029.4 0 0 of W
22H 29| FEFEFE 15.6| EEgPE 16.6 21.8 10.4]  75.1 96.6 48.3 72.3 1014.4 1016.5 5 12 305 M
23H 58| FEFE 205 EEFE 15.6 21.2 104] 524 92.7 34.9 66.3 999.3 1001.4 4 13 155] B
24H 2.7| FHEATE 14.2| FEFE PG 11 15.8 75|  46.6 65 24.9 60.3 1016.6 1018.8 0 0 of B
25H 22| FAFA T 82| i1t 8.2 13 44  56.9 91.3 32.7 59.2 1027 1029.3 0 0 of B
26H 2.6| EEFE 12.3| 10.3 14.4 4.4 68 91.9 449 61.8 1021.5 1023.7 0 0 of
27H 44| 16| FEFE 14.8 19.3 8l 722 90 56.3 64.8 1000.7 1002.8 15 6 17] ™
28H 27| FAramE 12.5| dbdL | 6.9 11.8 3.1 67.3 97.4 25 65.5 1016 1018.2 1 2 25 B
29H 5| RGP 20.8| FAFE 8.4 13.1 36| 606 87.4 31.1 64 1015.2 1017.4 0 0 of =
308 1.9| FIram 8.2 m 7.9 12.6 4.1 65.5 91.1 374 64.4 1019.8 1022 0 0 of
31H 2.5| P 13.5| FAFA P8 6.4 12.7 2.6 76.7 97.5 42.2 68 1021.4 1023.6 0 0 of M
1 29| MM 10.7 67.1 67.5 1015.5 1017.7
B 122 FEFAm 20.9| FHFA T 21.8 975 77.6 1029.3 1031.6 5 13.5 43
#£HB ['12/29 14:20 '12/06 11:50 '12/22 19:27 '12/31 07:25 '12/14 24:00 ['12/25 20:30 ['12/25 20:30 |'12/22 21:27 |'12/14 03:10 |'12/14
=K 2.6 24 4 57.7 993.5 995.6
£ H '12/31 07:07 '12/06 13:42 ['12/10 24:00 ['12/27 16:03 ['12/27 16:03
BEE 1345
H%K 0 0 9

R mEE it JtdtzE L HiL®E| ® e ER EEE 53] [Ealealii] [Ealic] icheakic] ] izl o] B o] B i i) i)
(%) 2.2 8.8 5.9 3.2 24 1.1 1 15 3.6 436 11 11.6 1.7 0.6 0.4 0.7 0.7 0.7




